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= X 4 5 | Timho0EEE ADKES X 4 TIwALDKE | B ADRES X 4 =% | timdodkE ADKES R 4 EEHho0lS | B ADKRES
(m) (m) (kN/m) EEdf(m) (m) (kN/m) (m) (m) (kN/ ) (m) (m) (kN/rr)
; 100kN/ %48 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# %% — - ~ — —|3mZEBZ 3 - ~ — — -
Th st 100|000 ~ 657 98.17 | #hust | 000 ~ 657219 9.64 Th st 1.00|56.00 ~ 1238 98.17 | #hst | 6.00 ~ 1238|219 9.64
2 100kN/m%#8Z%| 100|000 ~ 117 120.02 |3mEBZB| — ~ — — — | 100kN/mMi%#Z5 | 1.00 | 1274 ~ 1837 120.02 |3mZi#BZ3 - ~ — — -
Th st 100|117 ~ 786 100.00 | Fhbst | 000 ~ 786|255 11.22 Th st 100 |56.00 ~ 1274 100.00 | LS | 5,00 ~ 1837] 2.55 11.22
3 100kN/m%Z#8Z%| 100|000 ~ 075 112.65 |3mEBZB| — ~ — — — | 100kN/mi%#Z25 | 1.00 | 1339 ~ 1679 112.65 |3mZi#BZ3 -~ - — —
Th st 100|075 ~ 743 100.00 | Fhst | 000 ~ 743|267 11.74 Th st 1.00|56.00 ~ 1339 100.00 | EhLS | 500 ~ 1679| 2.67 11.74
4 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# %% — - ~ — —|3mZE#BZ 3 -~ — — -
Th st 1.00 | 0.00 ~ 6.00 88.92 | L4 | 000 ~ 600|253 11.13 s 1.00 | 5.00 ~ 1160 88.92 | £hst | 5.00 ~ 1160 2.563 11.13
5 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
Th st 100|000 ~ 660 98.65 | #hst | 000 ~ 660|219 9.64 Th st 1.00|56.00 ~ 1523 98.65 | =hS | 6.00 ~ 1523] 219 9.64
6 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# 2z % — - ~ — —|3mZE#BZ 3 - ~ — — -
Th st 1.00 | 000 ~ 556 81.91 | L4t | 000 ~ 0.00| 1.83 8.04 zhnLs 1.00 | 5.00 ~ 9.07 81.91 | Thst | 5.00 ~ 9.07| 1.83 8.04
7 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
Th st 1.00 | 000 ~ 567 83.63 | L4 | 000 ~ 567|199 8.74 ZzhnLst 1.00 | 5.00 ~ 1134 83.63 | Ths | 5.00 ~ 11.34| 1.99 8.74
g 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
Th st 100|000 ~ 603 89.45 | #hst | 000 ~ 603|223 9.79 ThList 1.00|56.00 ~ 1044 89.45 | ThS | 5.00 ~ 1044|223 9.79
9 100kN/M%#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/Mi%# %5 — - ~ — —|3mZE#BZ 3 - ~ — — -
st 1.00 | 0.00 ~ 352 52.02 | Ths | 000 ~ 000|190 8.35 s 1.00 | 5.00 ~ 5.00 5202 | =nbs | 6.00 ~ 5.00)| 1.90 8.35
10 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MiZ#Z 5 — - ~ — —|3mZE#BZ 3 - ~ — — -
Th st 1.00 | 0.00 ~ 359 53.00 | Ths | 0oo ~ 000|177 7.78 s 1.00 | 5.00 ~ 5.00 53.00 | =nst | 6.00 ~ 5.00)1.77 7.78
17 100kN/M%#8 % % — -~ = —|3mEBZE| — ~ — — — | 100kN/MiZ#Z 5 — - ~ — —|3mZE#BZ 3 -~ — — -
Th st 1.00 | 000 ~ 615 91.24 | =hs |o0o0o ~ 615|216 9.51 ZzhnLs 1.00 | 5.00 ~ 1100 91.24 | =nbs | 600 ~ 1100|216 951
12 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%#Z 5 — - ~ — —|3mZE#EZ 3 - ~ — — -
Zh st 1.00 | 0.00 ~ 6.16 91.51 | =hs (000 ~ 616|244 10.72 Lot 1.00 | 5.00 ~ 1140 91.51 | =nLS | 600 ~ 1140|244 10.72
13 100kN/MZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/Mi%# %5 — -~ — —|3m%ZEi#BZ 3% -~ — — -
Zh st 1.00 | 0.00 ~ 594 87.90 | =hs | 000 ~ 594|204 8.99 Lot 1.00 | 5.00 ~ 1140 87.90 | Thst | 5.00 ~ 11.40| 2.04 8.99
14 100kN/MZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/Mi%# %5 — - ~ — —|3m%ZE#EZ 3 - ~ — — -
st 1.00 | 000 ~ 593 87.72 | =hdst | 0oo ~ 593|207 9.11 Lot 1.00 | 5.00 ~ 1100 87.72 | #hst | 5.00 ~ 1100 2.07 911
15 100kN/MZ#8 % % — -~ = —|3mEBZE| — ~ — — — | 100kN/Mi%# %5 — - ~ — —|3mZE#BZ 3 - ~ — — -
Zh st 1.00 000 ~ 358 52.81 | #hst | 0oo ~ 000|184 811 ZzhnLst 1.00 | 5.00 ~ 5.00 5281 | =nLst | 500 ~ 5.00)| 1.84 811




